Parents/Guardians,

I have noticed over the years that some students struggle with adding and
subtracting when regrouping/borrowing is involved. In order to help with that we
complete a few problems together each day before we start our Math lesson. Some
of the skills in 3™ grade are similar to those learned in 2™ grade. Subtraction with
Regrouping/Borrowing, and Addition with Carrying are two of those skills. The
only difference is the amount of numbers. Students in 2" grade add & subtract up to
99 or less. In 3™ grade students will add or subtract numbers that will not exceed
1,000. The strategies learned in 2™ grade are the same ones used to complete the
problems in 3rd grade. The only difference is there are more numbers. We have
been working on Addition since the beginning of the school year (I will start on
Subtraction soon). There are Subtraction & Addition activity sheets attached for
students to work on at home. It's very important that students struggling with this
skill get help at home as well as at school. Please use the activity sheets to help your
child practice at home & I will keep doing the same at school.

Thank you,

***Sybtraction problems that end in Zeros can be extremely difficult to solve.
Students are unsure what each Zero turns into when Regrouping/Borrowing. Use
the following strategy to help make these types of problems easier.

1,000 (Subtract 1 from 1,000) 0 999

- 674 (Subtract1 from 674) 0-673
326

*#*[F YOU SUBTRACT 1 FROM THE TOP #
YOU HAVE TO SUBTRACT 1 FROM THE BOTTOM #!!!1***



Worksheet # 1

Name:

2 Digit Addition Without Regrouping (Use the number line to help you.)
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L. 89 2. 31 3. H4 4 63
+ 10 g < OF ) + 14
S. 11 6. 71 7S 8. g2
+ 44 + 15 + 6] + 96
9. 36 10. 45 1. 29 125 36
+ 50 + 20 + 50 +. 52
I3+ <34 14. 75 15. 66 6.~ 168
+ 21 + 13 + 31 23
17:: 54 e ) 19: .« 22 20. 38
+ 90 + 55 * 24 £.10
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Regrouping in The ohes place ohly

337 | .
+2353

+319

425

736

+148

- 302
+374 |

564

+229 |

235 |

+153 |

425
4243

339
+146

525 |

+234S5

266

+239

435
+325

+397

354 |

672
+216 |

547
+236 |




Nawic.

' | |
39 H
RNNL A ta3 |
|2 7.9
+ .21 + 4l
379 HA R | QbR
+| 34 + 883 94
b[TH Blbld| | 139
+ 3|l + 178 LTI




Yzl 11 392 | H[7/5
39 150 | 651
+4 518 | [+ QS| |+ 55
4 3 510l
12319 + 4] 415
321 573 2ol
tdl 5 383 | [+l BIKL




418 913 710 515 6 |4
I L i 0 O O P
8 |4 1 v/ 216 310 819
6l [ 05l | =81 | |-Is] [ [
413 913 2101 815 6|6
o] |+ -

9 215 1|2 215 49
78 6|3 17 319 210
+ 1L =18 413 |[+|8]2 15
R s  ——t——




B EREE ey
_ AT:—LF




3l [ M@ [ B[ 78
TR =26 3] -2
g3 [ ok | 1493
-394 (-1158 [-Jdbl¥l
Su2 | 4o | 5l
ol B0 1 -4 | -bR
sl | i




- e i ___A_)aﬁe:_
5Ll | Bk civl
SRR (=294 -3
H30 [ h33 | 374
g f\ 05 -~ = 2 %S
y 4 '{OQ 340
-1 llo| -g 7l - 2]
26l] | 151 3 | |4l
N RE - D | 2198




__Regroyping in The ones place only

654 572 793 890
239 | -318 -546  -179 |
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685 | 766 894 954
-526 -338 -536  -625
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Regrouping in The ohes an

d Tens place only
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